Math 121-03, Fall 2024

Instructions: Here are a whole bunch of (optional) practice problems to help you study for Exam 1,
which will be in class on Wednesday, October 2. There are a lot of problems here, so I'd suggest
you skip around and try different kinds of problems, focusing on whatever sorts of problems give

Practice/Review Problems for Exam #1

you the most trouble.

Derivatives: Compute the derivative for each of the following functions. Do not worry about

simplifying your answers:
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. Compute f”(z) where f(z) =1In(1 — z).

. Compute f”(z) where f(x) = arctan(3x).
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Limits: Compute each of the following limit.
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Integrals: Compute each of the following integrals.
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